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7wy ) FEHERE T - H=2. 40m, ATEAEL 1:0.5, #£RE35em, FiAHavs)-pt=10cm 19.8 m
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FEfET © BUTH ) - (18N-8-40, FEfERErE L, —fEAt)
V= 19.5 X 0.11 m3/m 2.1 m3
- BLEER (BEf2L7)—b, 18N-8-40, — M%7 4)
V= 19.5 X 0.07 m3/m 1.4 m3
[] AR (— AR, #5207 —h)
A= 19.5 X 0.20 m2/m 3.9 m2
VAR &7 ny) (A) . 150kg/ {8 AT
A= 19.5 X 2,57 m2/m 50.1 m2
A - SEiaay)-t| « [RIEN7 my 7 18N-8-40
V= 19.5 X 0.57 m3/m = 11. 12
V= 19.5 X 0.27 m3/m = 5.2T
7 16.38 16.4 m3
A (Fe) N7 ny) . BAERA (R RRIEE40mmEL T)
V= 19.5 X  1.26 m3/m 24.6 m3
Kifayy)=h |« 77 ny ) FEFERE Kias7)-h (18N-8-40, —fki&4:)
V= 19.5 X 0.09 m3/m 1.8 m3
it E Hh - JEFEMH (t=10mm) n= 1 & AT
A= 1 X 1.41  m2/f&FT 1.4 m2
KK FL « VU¢50 (0.53m/f&)
n= 10 + 9 = 19 t&pr
L= 19 X 0.53 = 10.07 10.1 m
WL B IERS |+ 300X300X 10
n= 10 9 = 19 AT
A= 0.30 X 0.30 X 19 = 1.7 1.7 m2
/INAdRa ) =b | e 3= CNVRREEY) . 2mPL R, 18N-8-40, —fikEEAE, L)
n= 1 &
V= 1 X 0.92  m3/fEAT 0.9 m3
] BRI (A, /N IS )
A= 1 X 7.22 m2/fEfr 7.2 m2




